BID AWARD SUMMARY

LETTING DATE: December 9, 2014

PROJECT: Pavement Rehabilitation Project – 1st and 2nd Street

Project No. 14-2204 / CIP No. 50844

RECOMMENDATION: Award Total Bid in the amount of \$367,488.55 to Hills Materials Company at the December 15, 2014 Council Meeting.

BIDDERS' SUMMARY

CONTRACTORS

TOTAL BID

Hills Materials Company	\$367,488.55
R.C.S. Construction, Inc.	\$370,306.86
Quinn Construction, Inc	\$419,737.00

City staff recommends awarding this project to Hills Materials Company for a total bid amount of \$367,488.55 based on unit pricing with the following appropriation:

FUNDING SOURCE

ADVERTISING AUTHORITY

ENGINEER'S ESTIMATE

TOTAL	Streets	Drainage	Water
\$285,000.00	\$200,000	\$50,000	\$35,000
\$340,000.00			

APPROPRIATION DATA:

FUNDING SOURCE

COST CENTER

LINE ITEM

FUNDING CENTER

BID AMOUNT

TOTAL	Streets	Drainage	Water		
	8910	8911	933		
	4370	4371	4381		
	505	505	602		
\$367,488.55	\$247,792.30	\$80,713.85	\$38,982,40		

PROJECT MANAGER:	Perles Pack	 DATE:	12/10/14	
	Todd Peckosh, PE	 •		
	City of Rapid City			

PROJECT NAME: Pavement Rehabilitation Project - 1st and 2nd Street

PROJECT NUMBER: PROJECT NO. 14-2204 / CIP NO. 50844

LET DATE: December 9, 2014

LOW BID AMOUNT: \$367,488.55

F				ENGINEER'	S ESTIMATE	TE HILLS MATERIALS COMPANY		R.C.S. CONSTRUCTION, INC.		QUINN CONSTRUCTION INC	
ITEM NO.	DESCRIPTION OF ITEM	UNIT	QTY (EST)	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
1	Mobilization	LS	1	\$25,245.39	\$25,245.39	\$8,000.00	\$8,000.00	\$44,824.65	\$44,824.65	\$41,000.00	\$41,000.00
2	Construction Staking	LS	1	\$6,000.00	\$6,000.00	\$7,000.00	\$7,000.00	\$6,448.35	\$6,448.3 5	\$5,500.00	\$5,500.00
3	Traffic Control	LS	1	\$7,700.00	\$7,700.00	\$9,000.00	\$9,000.00	\$10,292.76	\$10,292.76	\$11,000.00	\$11,000.00
<u>4</u> ·	Incidental Work	LS	1	\$25,000.00	\$25,000.00	\$11,750.00	\$11,750.00	\$10,997.27	\$10,997.27	\$17,000.00	\$17,000.00
5	Remove Concrete Curb and Gutter	LF	477	\$10.00	\$4,770.00	\$7.80	\$3,720.60	\$5.20	\$2,480.40	\$6.00	\$2,862.00
6	Remove Concrete Pavement	SY	135	\$20.00	\$2,700.00	\$18.40	\$2,484.00	\$5.66	\$764.10	\$27.00	\$3,645.00
7	Remove Storm Sewer Main	LF	523	\$10.00	\$5,230.00	\$10.75	\$5,622.25	\$5.73	\$2,996.79	\$12.00	\$6,276.00
8	Remove & Replace Inlet Throat	EA	1	\$1,200.00	\$1,200.00	\$1,385.00	\$1,385.00	\$574.54	\$574.54	\$2,000.00	\$2,000.00
9	Remove Manhole	EA	1	\$900.00	\$900.00	\$685.00	\$685.00	\$702.94	\$702.94	\$750.00	\$750.00
10	Remove Asphalt Pavement	SY	2,634	\$4.00	\$10,536.00	\$4.90	\$12,906.60	\$ 5.16	\$13,591.44	\$5.00	\$13,170.00
11	AASHTO T180 Soil Test	EA	2	\$175.00	\$350.00	\$175.00	\$350.00	\$184.88	\$369.76	\$250.00	\$500.00
12	Excavation, Unclassified	CY	923	\$25.00	\$23,075.00	\$37.00	\$34,151.00	\$20.56	\$18,976.88	\$30.00	\$27,690.00
13	Import Topsoil	CY	40	\$30.00	\$1,200.00	\$85.00	\$3,400.00	\$31.88	\$1,275.20	\$55.00	\$2,200.00
14	Gravel Surfacing, Temporary	Ton	80	\$26.00	\$2,080.00	\$30.00	\$2,400.00	\$20.68	\$1,654.40	\$40.00	\$3,200.00

			T								
15	3/4" Base Course	Ton	943	\$26.00	\$24,518.00	\$30.00	\$28,290.00	\$24.15	\$22,773.45	\$40.00	\$37,720.00
16	Base Course, Salvaged	CY	234	\$14.00	\$3,276.00	\$48.75	\$11,407.50	\$33.14	\$7,754.76	\$30.00	\$7,020.00
17	Adjust Manhole Ring & Cover	EA	2	\$500.00	\$1,000.00	\$850.00	\$1, 700.00	\$898.84	\$1,797.68	\$400.00	\$800.00
18	Connect to Existing Water Main	EA	2	\$1,000.00	\$2,000.00	\$3,375.00	\$6,750.00	\$1,515.86	\$3,031.72	\$1,500.00	\$3,000.00
19	Connect to Existing Storm Sewer	EA	4	\$915.00	\$3,660.00	\$715.00	\$2,860.00	\$726.29	\$2,905.16	\$1,300.00	\$5,200.00
20	18" RCP Class 2	LF	264	\$50.00	\$13,200.00	\$73.00	\$19,272.00	\$53.46	\$14,113.44	\$90.00	\$23,760.00
21	24" RCP Class 2	LF	260	\$70.00	\$18,200.00	\$82.00	\$21,320.00	\$65.60	\$17,056.00	\$95.00	\$24,700.00
22	60" Manhole	EA	1	\$4,700.00	\$4,700.00	\$6,000.00	\$6,000.00	\$4,264.29	\$4,264.29	\$4,500.00	\$4,500.00
23	8" Water Main	LF	265	\$50.00	\$13,250.00	\$60.00	\$15,900.00	\$54.69	\$14,492.85	\$80.00	\$21,200.00
24	8" 45 Degree Bend	EA	4	\$1,000.00	\$4,000.00	\$900.00	\$3,600.00	\$541.70	\$2,166.80	\$600.00	\$2,400.00
25	Type B69 Concrete Curb and Gutter	LF	37	\$28.00	\$1,036.00	\$25.00	\$925.00	\$25.41	\$940.17	\$41.00	\$1,517.00
26	Type B66 Concrete Curb and Gutter	_LF	392	\$25.00	\$9,800.00	\$25.00	\$9,800.00	\$25.41	\$9,960.72	\$41.00	\$16,072.00
27	6" Concrete P-Gutter	LF	48	\$23.00	\$1,104.00	\$17.50	\$840.00	\$25.41	\$1,219.68	\$41.00	\$1,968.00
28	9" Non-Reinforced PCC Pavement	SY	135	\$80.00	\$10,800.00	\$100.00	\$13,500.00	\$82.72	\$11,167.20	\$89.00	\$12,015.00
29	Asphalt Concrete Composite	Ton	901	\$100.00	\$90,100.00	\$98.85	\$89,063.85	\$120,43	\$108,507.43	\$100.00	\$90,100.00
30	6" Non-Reinforced Approach Pavement	SY	27	\$70.00	\$1,890.00	\$88.00	\$2,376.00	\$66.05	\$1,783.35	\$100.00	\$2,700.00
31	4" Pavement Marking - Paint	LF	1,375	\$0.60	\$825.00	\$0.60	\$825.00	\$0.66	\$907.50	\$0.55	\$756.25
32	4" Groove for Pavement Marking	LF	1,554	\$0.84	\$1,305.36	\$0.80	\$1,243.20	\$0.93	\$1,445.22	\$0.75	\$1,165.50
33	4" Cold Applied Plastic Pavement Marking	LF	1,554	\$3.50	\$5,439.00	\$3.30	\$5,128.20	\$3.70	\$5,749.80	\$3.50	\$5,439.00
34	12" Groove for Pavement Marking	LF	315	\$3.25	\$1,023.75	\$4.70	\$1,480.50	\$5.28	\$1,663.20	\$2.25	
35	12" Cold Applied Plastic Pavement Markin	LF	315	\$8.00	\$2,520.00	\$11.75	\$3,701.25	\$13.20	\$4,158.00	\$10.00	\$708.75
				,,,			7-31-01160	Ψ10.E0	Ψ+,100.00	φ10.00	\$3,150.00

					<u> </u>						
36	24" Groove for Pavement Marking	<u>L</u> F	180	\$5.00	\$900.00	\$9.40	\$1,692.00	\$10.56	\$1,900.80	\$4.50	\$810.00
37	24" Cold Applied Plastic Pavement Marki	LF	180	\$13.50	\$2,430.00	\$25.90	\$4,662.00	\$29.05	\$5,229.00	\$20.00	\$3,600.00
38	Groove for Cold Applied Plastic Pavemen	SF	55	\$3.00	\$165.00	\$4.70	\$258.50	\$5.28	\$290.40	\$5.50	\$302.50
39	Cold Applied Plastic Pavement Marking	SF	55	\$13.50	\$742.50	\$7.00	\$385.00	\$7.92	\$435.60	\$11.00	\$605.00
40	Pedestrian Crossing Sign and Post	EA	4	\$205.00	\$820.00	\$560.00	\$2,240.00	\$627.28	\$2,509.12	\$500.00	\$2,000.00
41	Sodding	SY	39	\$15.00	\$585.00	\$13.50	\$526.50	\$15.84	\$617.76	\$13.00	\$507.00
42	Seeding Fertilizing and Mulching	SY	564	\$2.50	\$1,410.00	\$9.40	\$5,301.60	\$3.97	\$2,239.08	\$9.00	\$5,076.00
43	Rock Construction Entrance	Ton	36	\$40.00	\$1,440.00	\$47.50	\$1,710.00	\$26.43	\$951.48	\$60.00	\$2,160.00
44	Erosion Control, Inlet Protection	EΑ	4	\$150.00	\$600.00	\$175.00	\$700.00	\$288.90	\$1,155.60	\$155.00	\$620.00
45	Erosion Control, Gravel Filled Filter Bag	LF	196	\$6.50	\$1,274.00	\$6.00	\$1,176.00	\$5.97	\$1,170.12	\$7.00	\$1,372.00
	TOTAL		\$340,000.00		\$367,488.55	斯斯克尔 斯克 克勒斯	\$370,306.86		\$419,737.00		

CONSULTANT

I certify that, to the best of my knowledge, this is a true tabulation of bids received for this project.

Ted Schultz, PE

12/10/14 Date

AE2S

I certify that, to the best of my knowledge, this is a true tabulation of bids received for this project.

odd Peckosh, PE

--`---

Project Manager

Date